Unit 5 Mid Unit Review — Quadratic Functions H “{SCH

1. The highest or lowest point of a quadratic function is called the ver jfﬁ)/\
2. The graph of a quadratic function is in the shape of a QC{J( CLJOO\Q,

3. The point where the graph crosses the y-axis is called the ~\ QQ*fJ{W

4. The x-values of the x-intercepts are called "OC!"‘S 1200 / sol 6Hond
5. Determine the y-intercept of the following function: y = 3x% +5x+13 ( Oy %>

6. Use the discriminant to determine the number of solutions for the given equations: b4 ad

=4 bL=4 =\ a=2 b=3 C=7lD o=2 =73 A0
a. y=4x*+4x+1 b. y=2x>+3x—10 c.y=2x*-5x+10 '
(ay=-4(D(1y =19] () 4(DCET)  (~ay-al2)00) F55)
| eeald Reo 2 eeal Koot o eeal koots
7. Find the solutions of the following: %, &
a. xX*+8x+12=0 b XC+4x+5=0 c. 2x2+3x+9=0 d. 3x*+13x+12=0
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8. Put the following in standard form and find the solutions: |
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9. Find the vertex and Axis of Symmetry for the following: =
a=\ b=10 59 A=\ b= (=3 a=2 =8 =3
a. f(x)=x*+10x~9 b, y=x*+4x-3 c. y=2x2—8x+3
- oppk . =1Q ‘ - w o =4 ~bpplb w
X= o,z_o\ 20" X‘“O%ﬂx IO oSy "3 T :
N NICC IR B I (D ACD 3 LD Yz 2@T3) 43 £2)
ertes (-5,7349) veryex (-2,-7) verdex (2,-5)

ACS Xz =S AOS Xx=-2 A0S X=Z



Unit 5 Mid Unit Review — Quadratic Functions

Graph the following and identify the following characteristics:

10. f(x) =-5—4x +* Standard Form: X~ A X =5

Does it open up or down? M‘Q__ x y

y-int: (0,-5) ",_5 o

pini: £, € (3,0) | o "D

Vertex: (2,~ 7) 1 :% - ]
AOS: >< =2

bomain: __ (~02, 6) | 4 |-5

Range: L9, ©) s lo
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Solve the following by factoring or by inspection:

11. 2% %2 =0, 12, 3x—5=22 13. x*—4x—12=0
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Factor the following:
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19. x*+8x+ 15

~?a \@G
T ((%4@(?% ) £SO
(X - ' -
L0
2 ot A 2 “ ’C"':NZ’% . 32 * C;L%"f
20. 2%~ 9x 35 % 2L 6x2—x-12 /N 22.3x %Q
- Qg emege L e — ol
2 1Ll 35 5% Mgz.;ﬁi’% = 3T+ Ti4
(2% +S) - 7(?4?‘**"’> 3 (2% -3)H(2¥-3) B 7 7

gx(ﬂi2>7 7(‘*2)

CEEDETON IS

Q&xm




